*  Most mountains are located in the
north and west, such as Wales and
Scotland. |

e These areas have few roads and
settlements but beautiful scenery. —
Sparsely populated.

e South and east of the UK is flat with
a few hilly areas.

e These areas are suited for
settlements, roads and railways —
Densely populated.

*  Rivers flow from mountainous areas
down to the sea.
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* Highest rainfall is in the north and west
where average rainfall is 2500mm.

¢ Lowestrainfall is in the south and east
with average rainfall of 500 — 625mm.

When air carrying

Land use varies
throughout the UK.
However our land is

always changing.
Nonetheless, the vast
majority of the UK is
farmland.

UK mountain areas
(Scotland) have rough
pastures and
moorlands. The
climate is harsh and
soil is poor for crops

Arable farmland
dominates because of
the warm, sunny and

dry climate. Crops

such as cereals and
vegetables are found
in the South and East.

Coniferous woodland
are found in northern
England, Wales and
Scotland. There areas
have poor soils and
are remote.

Grasses 52% Urban areas are
Grasslands are found . .
. L Arable 20% growing. This outward
in the west. It is ideal
Urban 14% growth or sprawling

for cattle and sheep
because of the mild Forest 12% urban developments

and wet climate Water 1% is cased by population

’ Other 1% growth.

Most UK rainfall is
caused by prevailing
wind blowing from
the southwest.

West

—

Moist, warm air
from the Atlantic Ocean

moisture reaches
upland areas, it is
forced up to
produce relief
rainfall.

Rain
clouds

The other side of the
upland area has
little moisture, this
is called the rain
shallow.

East

—

Water stress is when areas have limited water supply.

Problems

*  Most rainfall occurs in North .
& West but least rainfall in

South & East.

¢ South & East UK therefore .
have High demands.

* Demands involve domestic,
industrial & agricultural uses. .

Solutions

Water can be transferred
from the wetter west to drier

east by pipelines or rivers.

Construct new reservoirs in

the east to capture/store

more water.
Greater water conservation.

The UK population is 65 million and still rising. It is predicted to reach 70
million by 2030.

Reasons for growth Future of growth

Natural increase — the difference
between deaths and births.

Net migration — the difference
between immigration to the UK and
emigration from the UK.

Life expectancy — the average age
someone will live up to.

The UK’s population pyramid
shows that the country’s birth rate
is fairly low and death rate is also
low meaning there are more elderly
people.

Population pyramids are useful to
help plan for the future.

Males Age Females

g the "baby

Population (millions)

Low Population density

Much of Northern Scotland is
sparse due to a mountainous
landscape and difficult climate.

High

Rest of the UK because of the
gentle hills, moderate climate and
good transport routes.

Very High

Population is concentrated around
the South East of England, in cities
such as London, due to attractions
of employment, shops and )
entertainment. 2

Remote and poor

Moderate climate. -
communications.

Opportunities for work

Fertile and suitable for
farming.

A presence of raw
materials.

Steep and
mountainous.

Plentiful supplies of

Poor quality of soil. water.

Flat land for farming.

Problem and Reasons

e  The UK population is rising and therefore more houses are needed.
. UK needs to build 240,000 homes a year, but only half that are built.
*  Asaresult, house prices are rising and becoming too expensive.

*  Planning permission for new houses leads to local opposition. |
*  Green belt areas prevents urban areas becoming bigger.
¢ The price of lands keeps rising due to demand.

As countries experience economic development they
also go through stages of population transition. The
DTM describes this change and shows the UK in stage 4.

1 Birth rates high and death rates fluctuates.

Birth rate high but death rate is falling rapidly.
Natural change increases.

Birth rate and death rate falling rapidly. Natural
change is rapid.

Birth rate and death rate is low and fluctuating.
Little Natural changes.

Birth rate is falling and death rate is rising slightly. i
Natural change falls. 2 3
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13% of the population in the Key changes since 2001
UK where born in another
country.

In London, this value is about
37%. This has increased
between 2001 and the
present day.

The change was driven by an
increase in white non-British,
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M The UK may be a small island state, but it does play a significant role in the wider
e The quaternary industry has
increased, whilst secondary

\ . world. It is also part of several key international organisations.
\ /
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has decreased. | \ \

NATO “ UN G7
[ | Is made up of 193

*  Number of people employed in | Involves'seven of the
primary and tertiary industry weal:h.les: WC?S'G""
countries to discuss

has stayed the steady.
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member states with the
aim of maintaining peace
and resolving issues. UK
is part of the Security
Council.

9% y A group of 28 countries

\ 70% / “\
\ / / who work militarily and
\\ / \\ > politically to resolve
= N

conflict as a last resort.
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control of Crimea and supported

Russian separatists. Bucharest
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Black Sea

e Large number of people were born after the WW2 and are
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4 now moving into old age — Baby boomers. An economic hub is a central point or area associated with economic success and UK Involvement

% * Improved healthcare and new treatments to prolong life. innovation. Many of these economic hubs are located near universities. Below is a

O  « Greater awareness of the benefits of a good diet and selection of economic hubs throughout the UK. +  The UK, as part of NATO, sent troops and the RAF to neighbouring countries.
exercise. Islands * In 2015, the UK gave £15 million in aid to Ukraine as well as military support.

Aberdeen e  The UK, as part of the G7, imposed sanctions on Russian banks and trade.

* Healthcare cost are very high and will increase with an
increasing ageing population.

Belfast Titanic Quarter

Film studio, offices and
education based on the

Centre for the North Sea
oil and gas industry, now
developing as a research
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